Feedback?

== INSTALL DOC - 250 Series Land Cruiser TCase
N Skid

)
|
[

Included Hardware: (2x) 1/2"-13 x 4" Carriage Bolt | (2x) Square Washer |
(2x) 7/16" Flat Washer | (2x) 1/2"-13 Nylock Nut | (2x) 1/2"-13 x 1" Button
Head Bolt | (2x) 1/2"-13 Serr. Flange Nut | (3x) M8 x 1.25mm Flanged

N ——
Ie | l o Hex Head Bolt | (1x) 3/8"-16 x 1" Hex Head Bolt | (1x) 5/16" Flat Washer

= =

B

P

LN
,..-J

>/

VA B - AN

Included Parts: (1x) TCase Skid | (1x) Mounting Bracket | (2x) Spacer | (1x)
Nut Strip

—

Date: 25/09/2024 CYCLE TIME: N/A

Process Ref. No: 1149
Page 1 of 4 Author: Colin G

Revision: 1.011 Revision date: 26/12/2024



https://gembadocsapp.page.link/QpWzBhP3t3E5CCUc8

i Sy INSTALL DOC - 250 Series Land Cruiser TCase

Begin by inserting the nut strip through the rectangular hole on the inside of
the frame. Line the nut up with the unthreaded hole in the bottom of the
frame.

Feedback?

Skid

Loosely installing the mounting bracket. Do this using the three M8 bolts in the
factory threaded holes as well as the 3/8" bolt (boxed in red in the image
above). The 3/8" bolt installs into the provided nut strip. If installing with the
sliders, the bracket should slip between the slider mount and the frame of the
vehicle.

Process Ref. No: 1149 Date: 25/09/2024 CYCLE TIME: N/A

Revision: 1.011 Revision date: 26/12/2024

Page 2 of 4 Author: Colin G



https://gembadocsapp.page.link/QpWzBhP3t3E5CCUc8

Feedback?

INSTALL DOC - 250 Series Land Cruiser TCase
& Skid

9,
f
1

V
5 3

Set the skid up into place with the provided spacers between the top of the With the skid in place, loosely install the 1/2" button head bolts to mount the
skid and the frame. If installing with our Transmission Skid, the TCase Skid skid to the bracket.

should sit between the Transmission Skid and the spacers. Once in position,

the skid can be held loosely in place using the 1/2" carriage bolts with the

provided square washer, flat washer and nylock nut on the top of the frame, in

that order.

Process Ref. No: 1149 Date: 25/09/2024 CYCLE TIME: N/A
Revision: 1.011 Revision date: 26/12/2024 Page 3 of 4 Author: Colin G



https://gembadocsapp.page.link/QpWzBhP3t3E5CCUc8

O “=x7=
G >

7 One the TCase Skid is positioned where you would like it, fully tighten all
hardware.

Process Ref. No: 1149
Revision: 1.011 Revision date: 26/12/2024

INSTALL DOC - 250 Series Land Cruiser TCase

Feedback?

Skid

Thank you for supporting

American-made. We hope you
enjoy your new product!

If you have any questions or concerns
please reach out to us.

info@jcroffroad.com
info@victory4x4.com
info@squatch-proof.com
info@fatamericanmfg.com

269-353-1184

AV —
ryw {{% SQUATCH P

¢ ' PRODF
VICTORY Moy, !

4X4

AMERICAN MFG.

Ok
VY

CYCLE TIME: N/A
Author: Colin G

Date: 25/09/2024
Page 4 of 4



https://gembadocsapp.page.link/QpWzBhP3t3E5CCUc8

